
Calculus

Important Questions (PYQ)
Hyperbola

Plane Geometry

6

Find the ex of directix, Centre, foci of

hyperbola
(6x- - 9y - 32x + 36y - 164

=0

Sol 16x - gy - 32x + 36y
- 164 =0

r

164" - 32x - qy"+x6y
=164

|(u)- 2x) - 9(yu - hy) =164



(6(x)- 2x+1) - q(y-- 4y +4)=164 +16 -36

16(x - 1) - 9(y - z)==144

1- - 9(y
- 2)-
-=1

144 143

(x -13
-

2,1-
9

Letx- 1 = x y - 2 = Y



I - =1
9

a?: 9 b2=16

a = 3 b=4

e =?

bE =af(e2 - 1)

16 =9(e - 1)

t + 1 =e



25 =e

e =53.

Centre (0,0)

X =0 Y =0

x - 1 =0 y - 2 =0

x = 1 y =2

Center of Given hyperbola is (1,2)



Direltrix
=-

x =I
x - 1 =

Eg
x - 1 = Ij
x - 1 = 9 Or x - 1=- 9
-

5 5

5x - 5= 9 52 - 5 = - 9

5x = 14 5x = - 4



x=14/5 x =- 415

focus (Iae,0)=

X = Fae Y = 0

x - 1 = 13.5 y - 2 =0

x - 1 =50x- 1= -5y
=2.

x =6.x =- 4

focus F, = (6,2) Fz(- 4,2)



et of transverse axis

Y =0

y - 2=0

y=2

et- of Conjugate
axis.

X =0

x - 1 = 0

x =1



et of Latus Rectauns

X= I at

X = 3.5

x - 1 = 5

x- 1= 58x
- 1=- 5

x =6 x =-4.


